INSTRUCTION MANUAL






Dimensions

Dimensions

Ref (mm) Visual Qty Ref (mm) Visual Qty
1| 1800x396x16 1 11| 562x60x16 / 1
\ N
2 | 1798x396x16 1 12| 1774x390x5 / 1
3 | 380x395x16 1 13| 570x356x16 Q 1
4 | 380x395x16 1 14| 570x177x16 2
5 | 380x357x16 1 15| 350x130x12 , 4
N

6 | 380x357x16 1 16| 513x130x12 % 2
7 | 576x352x16 1 17 | 523x344x5 Q 2
8 | 380x60x16 1

9 | 380x60x16 2

10 | 562x60x16 3




M6x40 20pcs @15x11.5 | 20pcs| C 20pcs
(22
S
D12x10mm | 8set M4x14 | 20pcs 8pcs
M6x12 [10pcs 14pcs M4x14 |11pcs
8 g
J L=80 | 3pcs 4# Tpcs Méx16 | b6pcs
N @8x20 |14pcs 12" 2set| Q / 8pcs
: (=
4?4;> o x5
small bend | 2pcs Z @20 |20pcs

1pcs




Step 1:

P

R | Méxis |6pcs

“Ipcs

o] 4

Step 2:

G ‘ Méx12mm ‘ 10pcs|

7




(IS
MR

CORRECT WRONG

Please note that the
locking cam faces
outwards

Q
\
?7 \
C| @8x30 |4pcs
v

B [@15x11.5] 4pcs




Step 5:

==

C ‘ &8x30 ‘8pcs

&
B [@15x11.5] 8pcs

/

"

==

C ‘ @8x30 ‘chs

=
B [@15x11.5] 8pcs

7




Step 7:

H [ Méx20mm | épcs

?7 N ‘®8x20 ‘6pcs




Step 9:

H[ M6x20mm [8pcs

5

N ‘@8)(20 ‘8pcs

7

Step 10:

x4

Press lever to
unlock and
slide the
runners apart.

K \ 12"

‘ 2set







Step 12:

@B B
Vi U]

CORRECT  WRONG

Please note that the
locking cam faces
outwards

7

M4x14

4pcs

3
&
IS
&

D [#12x10mm|8set

E

M4x14

12pcs




Step 13:




,_

small bend| 2pcs

% ®g g(égew "1")

M[ 60N [ipcs




Step 17:

Add the screw
covers for those
visible cams

=

z | @20 [20pcs




	图纸和视图
	标准图框

	图纸和视图
	标准图框

	图纸和视图
	标准图框

	图纸和视图
	标准图框

	图纸和视图
	标准图框

	图纸和视图
	标准图框

	图纸和视图
	标准图框

	图纸和视图
	标准图框

	图纸和视图
	标准图框

	图纸和视图
	标准图框

	图纸和视图
	标准图框

	图纸和视图
	标准图框

	图纸和视图
	标准图框

	000.pdf
	图纸和视图
	标准图框

	图纸和视图
	标准图框

	图纸和视图
	标准图框

	图纸和视图
	标准图框

	图纸和视图
	标准图框

	图纸和视图
	标准图框

	图纸和视图
	标准图框

	图纸和视图
	标准图框

	图纸和视图
	标准图框

	图纸和视图
	标准图框

	图纸和视图
	标准图框

	图纸和视图
	标准图框

	图纸和视图
	标准图框



